SVOLUTIGN
/ P \W =T

Polaris Pro R Rear Facia
SKU(s): 925FP0184

INCLUDED PARTS

(1) Pro R Rear Facia

(2) M4 Stainless Screw

(2) M4 Stainless Nut

(2) M5 Stainless Screw

(2) M5 Stainless Nut

(4) M5 Stainless Washers

" INSTALLATION INSTRUCTIONS

REQUIRED TOOLS

M4 & M5 Allen Wrench

10 & 13mm Open End Wrench
T50 Socket

Ratchet

" WE’D LOVE TO HEAR FROM YOU - LEAVE A REVIEW & STAY CONNECTED! f d

Rev_091922



/ ALkl | | INSTALLATION INSTRUCTIONS

Step 1: Open the new Pro R rear Facia box. Place the raw aluminum backer plate onto the rear
facia trim. Use the M4 hardware and install. Keep the head of the screws on the outside.

Step 2: With a T50 socket remove the (2) screws holding the rear facia to the frame. Keep the
plastic step washers.

" WE’D LOVE TO HEAR FROM YOU - LEAVE A REVIEW & STAY CONNECTED! @ f d

Rev_091922



/ ALkl | | INSTALLATION INSTRUCTIONS

Step 3: Place the EVP facia trim piece onto the vehicle. Reuse the OEM plastic step washer
and bolt. Start securing but leave somewhat loose.

A=

Step 4: Install the remaining hardware through the OEM plastic tabs. Place a washer on the
head and nut side. Fasten down. Also finish fastening the T50 screws.

" WE’D LOVE TO HEAR FROM YOU - LEAVE A REVIEW & STAY CONNECTED! @ f d

Rev_091922



/ ALkl | | INSTALLATION INSTRUCTIONS

Thank you for choosing Evolution Powersports products. If you require further assistance, please call our Tech
Support @ (715) 247-3862

Note: This product is exempt from the emission standards and related requirements of 40 C.F.R. § 1051 as provided
by 40 C.F.R. § 1051.620, and California law [e.g., vehicle code§§ 27156 and 38391]. This product is sold only for use
in connection with EPA certified, purpose-built, nonroad vehicles used solely for closed course, nonroad
competition/racing and not used for any recreational purpose or on public highways or right of ways maintained by
and open to the public. This product is sold only in connection with machines that do not fall under state and/or
federal noise or emission standards/regulations. Purchasers who/that purchase this product represent and warrant
that the product is purchased only in connection with EPA -certified, emission-regulations-exempt and noise-
regulations-exempt competition/racing vehicles as interpreted under applicable state and/or federal law. Questions:
Call Evolution Powersports at (715) 247-3862.

" WE’D LOVE TO HEAR FROM YOU - LEAVE A REVIEW & STAY CONNECTED! f d

Rev_091922



